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Redistribution and use in source and binary forms, with or without
modification, are permitted provided that the following conditions are

met:

1. Redistributions of source code must retain the above copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above copyright
notice, this list of conditions and the following disclaimer in the
documentation and/or other materials provided with the

distribution.

3. Neither the name of the copyright holder nor the names of its
contributors may be used to endorse or promote products derived

from this software without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE COPYRIGHT HOLDERS AND
CONTRIBUTORS "AS IS" AND ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NQOT LIMITED TO, THE IMPLIED WARRANTIES OF
MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE ARE
DISCLAIMED. IN NO EVENT SHALL THE COPYRIGHT HOLDER OR
CONTRIBUTORS BE LIABLE FOR ANY DIRECT, INDIRECT, INCIDENTAL,
SPECIAL, EXEMPLARY, OR CONSEQUENTIAL DAMAGES (INCLUDING, BUT
NOT LIMITED TO, PROCUREMENT OF SUBSTITUTE GOODS OR SERVICES;
LOSS OF USE, DATA, OR PROFITS; OR BUSINESS INTERRUPTION)
HOWEVER CAUSED AND ON ANY THEORY OF LIABILITY, WHETHER IN
CONTRACT, STRICT LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY OUT OF THE USE OF THIS SOFTWARE,
EVEN IF ADVISED OF THE POSSIBILITY OF SUCH DAMAGE.
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ODYSSEUS/EduCOSMOS Q&A

e EduBfM
Title Key matchingZ} " NOTFOUND_IN_HTABLE "
Question | oJtd &+ 7 %ol Look up 357} “NOTFOUND_IN_HTABLE” oj2] ™A A=
1-1 Hkeksii a2
Answer | 919¥ 7]7} hashTableo] S=2% o]= entrye}t®= th-3% A &= 4% look
up ¥+ "NOTFOUND_IN_HTABLE "& uhskghc),
Title ol A o] W R Fhe
Question | Q1. &< & Al, malloc()?} free()S &3 AN wxe] sz A7}
a3 7t dvke?
Q2. setDirty() $++5 E|ET A] segmentation fault7} wHA g ) o] o
= T SukE 7 oo Adgle] TAlske Ao Az
yrth o]Zle] gt Folo] o] faults: TAAIATEL FAHT S
1-2 At a?
Answer | Al. bufferpools AH&3dte] WEelE welstEsE == malloc()? free()
5 % vry 23 AE F et sy
A2, Test programoll ] EduBfM_SetDirty()= EduBfM_SetDirty()¥* =+ o}k
EduBfM_GetTrain() ®=3+ &34 vh. ®FeF EduBfM_SetDirty()e] &
o] Agslrpd, thE API functionEo] #E FTHEA= FUAEAE
gels BA7] vy
Title chordl 2 &
Question | Q1. nextHashEntryS < 74e] 7)1 92
Q2. hash key#kel 2 page’l © o] EAIsHA] &+ 79 nextHashEntry
of ojmgh gto] Agrojof st a?
Q3. o7} B sk A, owg A E FHetar
Q4. "2 HASHTABLESIZE_TO_NBUFS( x) (( x)*3-1)¢] &g
ol e
Q5. Nextvictim o gt gh& A7F3}ta?
Q6. bufTable elementE o1E A Z=7]3}A]7] 82
Q7. "the value of the variable fixed cannot be less than 0" o] & #%o] & A
1-3 7182
Q8. EduBfM_GetTrain()oll 4] page/train®] buffer poolol =As}#] &= H %
fixed variableol] oy gk ZLo] A F ojof &} Q?
Q9. ALE9-E AMEZElE WSLS Agdl® w=4 dadyTh
Q10.edubfm_Hash.c 3} 2] edubfm_Lookup <=7} Four typee] W+= <)
Hykow Wkt o] Zleo] F3lQIbar
Q11.ERR() &7} returna} F-lo] 27182
Q12.7= wdo] AW Eo] 9= returnol 3t & = “some errors caused by
function calls"2] <]
Q13.Second chance buffer replacement algorithmell A H] o] 913 page:= o E A
%2713} s
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Q14.Page A4 Al collisiono] WHAYSHH 7]<E page?] fixed M7 091 4 §-
o % linked list®= 1A% }Q?

Answer

Al. nextHashEntry:= bufTable 91¥l2~5 7187t}

A2. hash keyatol #-2 page’} U o]/ =418+ 2+ “d-F nextHashEntry
= NILS A3 HD}

A3. ol &7} wAE A9 log fileo] A E Il programo] ol#ElHow Fa
Huoh

A4. |52 HASHTABLESIZE_TO_NBUFS( x) ((_X)*3-1)& hashTable2] =17]
5 Wrsksiy o

A5, NextVictime A& elementE 2t7] 98 th2 ®HEadloF 3= buffer
elemente] Wi Ad s AL

AB. bufTable element= ¥H52 o2 %7]3}x ofof 3},

A7. fixed variable 0 W] ¥He] 3tS 7Hd 4 glem= Y 42 S5
=3

A8. page/train®] buffer poolol]l EAJ3FA] k= 79 fixed variable2] k-2 0
o5 AAEojoF gt

A9. & projecti= Linuxe] A4 ¥ version®t AR-&-3oF gt}

Al10.Four type header fileol Ao AHFUTE o] 4dbyte WS
handles}”] $13t data typeq]H Tt

Al11.EduBfM_error.holl ERR $+=7} define¥ o] J&5Uth ol logs =9
Shaz, return 5= A YY

Al2.tt2 Frel oal] A7) o Z=E oy th

Al13.Paget edubfm_Delete functionS ©|-&3}o] %733yl 22 d], page
7F vl ok 27)8F ahA &EFuH T

Al4.Linked list2 H1ZA&FA] ¢Fal 7] pages 2MAlstal A2 pages 5
sl

i

14

Title

Test program®] 23} &2

Question

Q1. Test program®] ZAI}= A& ZHEpe olyw  FreeTrain()tol
printf()i- = AF&3te] WA A o2 ZF¥AA sh8?

Q2. EduBfM_FreeTrain()2] 43 wAXE &F4 A3 Aye} FAsHA
=93 oF stta?

Answer

Al AF82H= test programe ZAHE E2sly] 1A FreeTrain()2tol
printf)&-2 BA A o2 ARg3ledoF gt}
A2. &7 EdsHA FHEoloF FYh

1-5

Title

EduBfM_DiscardAll()¢} hashTable<] entry%k

Question

7o w2 EduBfM_DiscardAll()i= 2t hashTableol #73%¥ ZE entry
55 2MA Y EduBfM_DiscardAll()S 238 %, hashTable] entrys©] ©]
A QY2 ks -3 7HA AL e Flo] Thsehrba?

Answer

EduBfM_DiscardAll() i= hashTableo]l Ad¥ ZE entryE9] 3= NILS=Z
Aoz BEE entryeS 21AgUTh welaA EduBfM_DiscardAll()<]
A3 & hashTable®] entry=c¢] o] ¥~ k& 7HA 1L = AL &7}

S
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Title hashValue2] #4F
Question | Q1. hashValueZ 7| 4kgtuj:
hashValue = BFM_HASH(key, type)
hashValue -> buftable
f1eF o] AbEsh= o] ke Z17FR? Elementol] thalA 3
buftable®] & Qg =& 71297 935l hashTable[hashValue]= /\}
16 & % e
Q2. hashTable ©lA o] entry = A]9-31#F & ul, NULL S @ojof
st8? ol free()& T =3aloF a8
Answer | Al H3kAl Wi o] ubru T}
A2. NIL #& oA Hunt
Title bufTable key] Z7]%k
L7 Question | bufTable key®] Z7]k2 F3lQ17F8? NULLE 3} iy NULLS <F
Q.
Answer | Z7]%H& SET_NILBFMHASHKEY 94T}
Title EduBfM_SetDirty() API<} test program ¥ 2
Question | Q1. EduBfM_SetDirty()E T &3F%] 23l test program = a3, test
2 10 A segmentation fault error 7} A gLt} Test program ol &7}
U= ARJA,  testprogram o] 7Hs A ww g
Q2. th&o] F ZelA 919 error 7} WAYsHE, flag = F-ol17ER?
apage -> header.flags =i + 1;
printf("The header flags value of pageNo %d is setted ‘%d’\n, pagelD, apage
-> header.flags);
1-8
Answer | Al. EduBfM_SetDirty() APIE T@3tA eIkt test2 1614 ol 2j7F U=
AL EduBfM | GetTrain() APIS A= 73] FalA YUt} Test
spelo = EAl7b Qi test HAE SgahH ohE L)
A2. Test programoll 4] page header2] flags= #H|o|AE F+EHa 7] 935 2
AR o] &Yt o] Wg= WESHAl o] o] ofuw, W
=¥ W2 EduBfM_GetTrain() API7} 23 &= o] TAst= o8]
U,
Title EduBfMel digh &
Question
L9 Q1. EduBfM_DiscardAll) API 7} S&= S u fixed 2 Ftol g#glol

buftable ¥} hashtable ] =& A X Eo] 2FA & ofof 3}L}Qa?
Q2. EduBfM_FreeTrain() APl 7} S&5 1S ) fixed 7} 0 o] =23l et e
buftable o] AR5 2A|5tA = &+ Zlo] Yh}a?
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Q3. solution code = test program = S 3J3}H, test 3.2 7} F3H *
nextHashEntry 7} %7|38 %] =4, nextHashEntry 7} %7]3}%] A
ol Huha?

Q4. edubfm_Delete()ell ot viwdS HW 5 U3 hash key values 2zt
page/trains°] A 7¥ buffer elements 2] array index=7+2] linked list
T27F FAHEE D array indexE AMA|3olgta o] 9Es
t}h. 2#d), o] o] hashTable®} bufTable & o= AL FAslet=
ANA REAFHT

Q5. fixed #tel 0 ww¥ke] Hojd <F Hvhal 4=, 19 0 vvho]
HoojH Mg F dfof shha?

Q6. EduBfM_GetTrain() Al refer bits 1= %7|s}alFoF s} a2

Answer | Al 4], AtA|EojoF gt}
A2. 2 AISHA] ek Aol sty T
A3. 2713} &}A] ot Huth
Ad. o= FHo|AE A=A we g=2A FAsoF gt
HashTabledll index”} A% o] %7} 2FA| = AThH hashTableS 44
sfoFstm, the #H oA 7}F AFA E A HH, bufTables =7g 3l oF gt
Ab. fixed gto] 0x.th Zro}x]A] Fw= foFg T,
A6. 12 Z7]3} s H oFg
Title RDsM_ReadTrain() API argument ¥+
Question | RDsM_ReadTrain() APl &&< &3l dojA &= aTrain XQ1E 7 7171+
H o] 2] ] page id= 5U APIS] argument$] trainlde] ¥} ool ghriar
Az =), ol& FRlgh A¥ 24 FFUTE 7 gho] #A Folk Hu
1-10 7
Answer | BfM X5 page id9} 2> page WF RHFES #EEA @fomw
garbage datas ¢}-> A YUT} Page W HFES #EshE 3 OM B2
BolH, OM EEdA = Wi HgEe] RIEA on] Q& Es 25
t}.
Title Util_ErrorLog_Printf(char* msg, ...) API
Question | Util_ErrorLog_Printf() APl argumentel] “.”2 F31Q1#] Z E2 A HU ],

1-11 | Answer |« 72 7PA QlxdUtt 7FW A= C APIOlA 7FH ] argumentE A
37l ga AedH, 3 o2 printf)7t A5yl AT E APIE
EduBfMS T-@ste=tl ZeshA fves s 48 =dyrh

Title LRDS_CommitTransaction failed!!! <] 2]
Question | LRDS_CommitTransaction failed!!!
o] o= AA HAsLEA?

112 nswer sl ol2]= LRDS REo|A] commit transactionS A3t S w A
ok 27, oy HWAA ez Askek W8S Feofste e B
sl 2 “odysseus_error.log”vt S FHeld AS A =Y}

Title EduBfMell th&k A&
113 Question | Q1. edubfm_Delete()ell thgt vi74-S HW “5Ug hash key values Zt+=
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page/trains°] A 7g¥ buffer elements2] array index=3+2] linked list
TZ7F FAEEE T array index® AHA|gHolglal Ho] e
t}. 2%, o] Zo] hashTable?} bufTable &= o= RS FAs et=
AJNA REZSFU

Q2. fixed Zte] 0 wwto] HojA <F Hvta sty Ed, 15 0 Hylo] &
Hoolw A& afof shhar

Q3. EduBfM_GetTrain() Aol refer bits 12 %7]s}slF oF 3h}82?

Answer | Al o] FHo|AE AMAEA=A wep vE2A FAEjor g
HashTableol| index”} #74¥ w|o] =7} AMA| = thd hashTableS <=
Aefjofsir, v H oA 7} AMAETHA, bufTables 78 3oF 4
=3
A2. fixed gto] 0Kt} Zfobx]A] w5 sfjoFg )
A3. 1% %7]38} s FoFgtytt.
EduOM
Title extNo2] <]u]
Question | extNot F-ol& ousl}a? o4 o]g&a)A s|d SlottedPages S <=
UHtL?

p.q | Answer 2 e FolAER FAEUT o] HolAELS extentZH-E T
wh=d], extenti= physical space &do] w2 A] T AL E physical
pageE= T H Ut ExtentsS AHE3HH file Wol A pageE©] physically
ALHA dIHES BAT & dFUTh FaE, g extente] 3 WA
SlottedPage:= Extent®] M52l extNoS Fa] Hd 4 5yl

Title w7 109 ©] =] 2] available space list2] At
Question | Q1. ‘Free space’”} contiguous free spaceE 2| 7] 3}L}2?
. Q2. o] A 9] 10%eH= 7 Holx] HA =719 10%E 2v|shta? ofy
i ogle]A] vie] dHeoly @] A7 10%E o]t
Answer | Al. ‘Free space’ contiguous free space®} unused space2] 32 v g},
A2 o)A U e] HolEl o] A7]9 10%E oyt
Title SlottedPage2] d®lo]E o] A3l ¥ & IN/OUT Ieju|E] ] v
Question | Q1. SlottedPageo] A &¥ Ho|H ] ol s g2
Q2. v Ardol A INoJYF OUTL F8l& onshtar
2-3 | Answer | Al. BfM_getTrain &-<=oll A 39l 1% 7}4 ¢}, ‘apage->header.nSlots’2} o]
tloEfel 3ot
A2 INS 948 FetrEE oulstal, OUTS =9 detrlelE on|ghy
=3
Title OuT ztetw|g e} 2’ ghe] ApolH
Question | OUT st E ¢} 26 gL XPOVSO] Foll7Ea?

2-4 | Answer | “OUT stetvE"= AT FHo A3E call-by-referencex § 3 TL}E}
HE o] EQIEE A&l wkstetar, ' g A o) AdE
o] Rk 25 ARgEf whskgh




Title Solution ¥} output 3} 2] H] 1L
Question | Q1. Solution U3} A o] =3 output FLS vl
pagelD S A] 7rolok 3}t 2 catObjForFile2] fid.serial©] solution 3}
I} EY
Q2. 23 ZA3}7} solution} spaceListPrev, spaceListNext?t T2 A 1o} F
99
Q3. &34 Ad oA Test 3 - EJuOM_PrevObject(), Test 4 -
2 EduOM_NextObject()e] 23} & A2 ObjectiD] Uniqueske] #| A3}
2 e Ytk Uniquedt 2etd 4 l&=717ka?
Answer | Al. EduOM_Test.coll A & = 2l5%o], solution Ao A =23} pagelD
= voINo%} pageNo® o] Folx i, dd&2el £A71 ofd 4 Q&
=3
A2. solution¥} FdaA Lhebol ).
A3. Unique #%= solution®t sdgh gto] Yo =5 F33HA7] vigiyTh
Title o) 3Ll A internal function®} API function®] 2o
Question | W<l 213 ¢l+ internal function®} API function®] =}o]do] F-ol¢l7}
2-6 [°?
Answer | API functionS 3] RE2 2Fol &S 4 A9 internal functione
A gl UFidAwt &&3 5 JFUTh
Title Extent2] <]
Question | Extent= F31& 9v|sita?
2 Answer | Extenti= S0z A3 Ho|xE9 S o ng ) Extent number
£ o] &ste] A WA ol = 4 AFH
Title of 2] wWAA] & &slot &2 gk
Question | Q1. ‘LRDS_Dismount failed’@}= ol 8] WA= ofw A $-o] E2¥ba?
Q2. A WA A slot Ha 7} 0, vFA| 2} A 2] slot HZE 7} (nSlots-1)©]
gt g2
28 Answer | Al o] o|# WAX] &= BfM_GetTrains =3 A7t BfM_FreeTraing =
tAl ks ul YT} BM GetTraine &3 FHole 34
BfM_FreeTraing ZZalloF gt}
2. 55U
Title el e A%
Question | Q1. 4| <] offset> T3S 2n|3}}e?
Q2. ObjectiDE A&l 4] A DA 382
90 Q3. A A&} sloto] oA EA AAE] Yt 8?
Q4. ¥4 unique= F-ol& 9w} a?

Q5. SlottedPage?] flage= F3=S on|s}fe?
Q6. &2 77]9] available spave listS o]®g A A3} ?
Q7. om_putIinAvailSpaceList 3+ FA= $lgk &217ta?
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Q8. eduom_CreateObject()3F<= A ™ ol A, nearobj7} A& pageoll &7+
o & % pages @Il ol page?] headers x713}F sfefar
Hojd=dl, oBA %713 b 8? 7|8tk ARt ke

Answer

Al Offset> data area®] A|2} 9158 i AA7kA o] 4 ghe] Afol
= orgyn

A2. ObjectiD9] pageNo<} voINoE o] &34 Fo]A& Y& 4 AL, slotNo
E o] &slA Al AAd HEE + sy

A3.Sloté] offset gt= ©]-&3A A9 Ax&E +& -

A4, W7 unique= ¥ Flo]x] Ulo] FUT slotNoE 2+
| AR&ehE Mgy

A5. ODYSSEUS/COSMOS®ll = #2 EBFYol Sl=tl, EduCOSMOSel = ©]
Zol A SlottedPage EFINF AREUT webA flage oS 9w 7}
glo] #Hol# o] EfIvhS e T

AB. EQUCOSMOS+ 7153t 7Hg 212 available space listE A1 8 gt o,

A7. om_PutInAvailSpaceList = free¥® slotted pageS < 'Z+= available space
listell W= gyt

A8. A2+ ¢l5UYth fid, nSlots, free, unused, prevPage, nextPage,
spaceListPrev, spaceListNext, unique, uniqueLimit, pidE *7]3} 3}, o]
W gko] A= =4 testsolutionS Fa1sAH FHU

=
Ag 7Ee)

* %o
S Eb‘

2-10

Title

Extente] 4™ 2 header filee] WS )3t A&

Question

QL. Extent”} FolQlAl &=t
Q2. SlottedPage”} EduOM_Internal.h 3} oll, Page”} EduOM_common.h 1} of]
Aol e of7F Fe YL

Answer

Al T2 HolAER FAE =], o] #Ho|xEo] Yo A= ¥
oA AAEo] I =gHoZ A&Eo Qv FAES HolH
readinge] M E&A YUt webA taTo A & 3o HolAES
cluster & o A extent & AF& Ut Extent © 2402 ALY
of &= HoAES I1FS v, extentZ2HH Ho|AES T
Ut} Extent numberi= L extent®] WA Ho]A]ido] L extent fill
factori= extent= 58] == page /N2l A S ou gy

A2 &Y ZRAEM = ALEHA] @e ¥MgEelY 1y oMk ¥

g},

2-11

Title

EduBfM_GetTrain()Z} EduBfM_getNewTrain()2] =}o] 4

Question

EduBfM_GetTrain()®} EduBfM_getNewTrain()> A2 A% &3lo] 715 3t
A ZHEych 22t EduBfM_GetTrain()¥ EduBfM_getNewTrain()¢] x}o]
= oSk

R

Answer

A2 pages T WS A5, AEA WS pageol & data’l §1
7] wjEel diskZH-E traing S o7 flFUTh T OAPIS] zto]&
disk access®] o5t} EduBfM_GetTrain()> disk2F-H trains ¢jo] &
J Yt} EduBfM_getNewTrain()> &S 9lske] disk H §lo] M=&
traing AATYT. 22y o)A 2L taing AT wolgk A&

Y},

2-12

Title

nextPage, prevPage2] #keoll #3 A&

Question

o]®W page”} filee] wlx]9} #Ho]X]U 79, page header2] nextPage #t-
NULLSIZ7FR? " page’}t filee] A #Ho]xd 79, page header?]
prevPage %> NULL <17}2?
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| Answer | 185Ut} EduOM_TestSolutionoll A &= <1715

i)

e

Title File catalog, offset, moveObject, largeObjectol] 33k 2 i
Question
QL. File catalog 7} ObjectlD 4] .= o] dE¥ = X
%o file catalog ol H<tsh7] fl@lAlE objectD o A <tehe
WA S ARE ok sk A7Fa?
Q2. "ol w=w movedObject o gk ]S sfoksttia WA H o]
215Ut} movedObject = F-31217F22?
Q3. "ol W= largeObject o gk HE sfofgttiar WA ¥ o
1% Ut} largeObject &= 41217142
Q4. firstPage ©l <*3}7] 91841+ voINo 7} 283 A ZHyh 18y
2-13 firstPage 2| data type ©] pageNo ©]A] firstPage o H= & 4 Ux=
volNo & 2+& 571 glssuth o978k file catalog & ©]4-8)A]
firstPage o Hsk 4= b Q2
Q5. Offset o] A|&A]H o] oJt17Fa? A page © A& A|HA7ES,
page W 2] dataarea o] A2} %% <1727
Answer | Al. 4], ObjectiDel 3|23} object”} file catalog$] U tt.
A2, o] ZTRAENX= ARESA] For® agstA| ol HUth
A3. o] ZRAEX = ALEetA] For®E agstA| ol FHUth
A4. sm_CatOverlayForData®ll ¢l FileID= volNoE 7FA|al glorm 2 o]
e ARgshH FHuyth
Ab5. Page 9] dataarea®] A%} #| 5 Sjuh
Title Volume, PhysicalFiledID, ¥4=ol #3+ A&
Question | Q1. VolumeS F-S1Q17182?
Q2. PhysicalFileID= 91917182 A #Ho]x] 9] IDE o7t Q17Fa?
Q3. A= e Ad= BE WFES AMESoF st
2-14 | Answer | Al. Diske}al A ztalald gy,
A2. firstpage®] pagelDZ PhysicalFiledIDE A}-g&3l= AL FHULH L
g o] A2 oW Sl= typee] oty”] wWiEel pagelD® AH&EM =
gy
A3 134 S5y
Title Contiguous free area =1.7] 7|2+
915 Question | contiguous free area2] 37_]% ojw A AAL 911/}5_1?_
Answer | EJuOM_Internal.holl contiguous free area®] =L7]E A4tst & Q= mja=
7F Ay
Title Compact areal] ¥t 2
216 Question | Compact3} slot =171 = 1—1’{3_7%]&811 Hek5UTh 299 solutione] A xbe}
g2 FEo] glHUrt) Solutiond] QF7F dEATER?
Answer | Compact:= slot @ o] obid data gt &gt}
Title Util_getElementFromPool()ell #3F Z& 2 diHead®} new element®] 73t
A ek A7
Question | Q1. Util_getElementFromPool() 3=l 4] DeallocListElem *dIElem ©] 4<%
917 01 UFHH A= /‘}_%’5‘}7] e A=, diElem o FAauE ook
SF=EAA], malloc()S E3Fe] A 28 dealloc list elementS St wholof
st=A FedH T
Q2. dIHead®} new element 7+e] A= oD/ w1 }Qa?
Answer | Al. dIElem ¢ FAE ARgshdH Huth
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A2. New elementi= dIHead2] next element7} =ojof 3}, 7|<& dIHead<]
next element”} new element®] next element”} % ojoF &t}
Title BfM_GetTrain()¢} BfM_FreeTrain()= AF&A] Ak "LRDS_Dismount
failed" ©l 2]
)18 Question | BfM_GetTrain() 3} BfN_FreeTrain()Q_ A5 ARESh e A B
"LRDS_Dismount failed" o2 <2] &kt f1<lo] 3117192
Answer E BfM_GetTrain()5-> ZF BfN_FreeTrain()ell th-3-gut}h. wheba, o] o
%01 Z5¥ 719~ "LRDS_Dsimount failed" ol 2] A %7} &g}
Title Object ¥+& data structureol] 3k A&
Question | ObjectE YEFU = data structureol] A object] dataE #-35li= character
array®] =17]7} MIN_OBJECT DATA SIZEE Ao|H o] gl&d], o]wt} &
2-19 size?] datai= LA AT = A2
Answer | 71 data structuret™= memory < (dlE E°], paged] HolE 9<) o A%
¥ object® 7lg]7]= pointere] £x 2 AMEFHuUTh wElA, ©] data
structure®] sizei= object #}A<] allocation¥}+= F#3H T}
EduBtM
Title SM_VARSTRING E}{! dHo]E| 2] key length
Question
Manual ©| w2 Btm_LeafEntry 2] klen o key ¢ Zo]E A&gt].
A, test TR WS BH SM _VARSTRING o] 9ol kval o <
1 2 HlolE EFIHE key © dolE AFFUTh SM_VARSTRING EF]
tlo]Ele] ZolE klen o& AofdA] kval o ¢ 2 nlo]ER AofgA|
TedHTh
Answer | klen9] #k¥} kval 9 2 BFolEo] AAE = ke AL B L2 A
o A]3= SM_VARSTRING®] Zo]=E kleno.& &}o] +&&7]S AU}
Title stop option, EQ/BOF/EOF
Question
3.2 stop option ©] EQ/BOF/EOF & uf oj@ A F+&sjof s}1}22
Answer | ¥ X ZAE= stop option®] EQ/BOF/EOFS] Zlo| s +dd Aart ¢l
FH
Title PageZ} A split = ojof 3h} a2
Question | F|o] x| 7} 4] split F]ojoF dt=x] 2 Z 225U Free space® <135}
3-3 = A g2 olzlo] shiter
Answer | Zr5UTh 4F91 S objecte] Z17]7F free spaceB.tF 2 79 splito] L ojufork
e
24 Title Index entry ¥+¥ data structure S0l 3+ 2
Question | btm_InternalEntry, btm_LeafEntry, Internalltem, Leafltem& F-Slo] t}l27}22
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Answer | btm_InternalEntry 2 btm_LeafEntry:= page2] data areaoll #°g¥ entryE
accessdl7] 913 pointer®] & =% AF8¥ 3, Internalltem 2 Leafltema L
& entrys s froll d9Eetr] 9% A &= AREHUUL
2= entry @ ol9el® ¢ EF A a8 FUHAQ ARIE A E
nw, Axpel i Eojof T
Title Entry 214 <dae]&
3-5 | Question | Entry 2FA] ¢arg]Fo] oW A ¥k a?Sloto] NILe] A s b2
Answer | 2141 entryS compactgUth ] memmovesS o] 8-3dhH FHuth
Title Error WA A <1
Question | Delete <%} Fetchdt<=, 18] 1 FetchNext3t5=7} 2 &)= o “fixed counter
3-6 is less than 011" E}= WA X7} S8 5= Yelo] Falelrta?
Answer

BfM_FreeTrain 53 4] fixed #ko] 0R.tF Zolxl& W &= o4y
o} o7l #AA2 fixe} unfix operatione] #o] gkx !
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